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Attempt the following questions
Choose the best choice for the following

a) (3,4) b)

called

(b)

itby--
is called 'L

iscalleda' '-.,

set is linearly

representation in python

Product Space

THREEXEach of SMarks)
complex number *5 + l2i

, 0, l), v2:(2, l, 4) and v3:(1, 1, 3) do not span vector

complex no by 900, l80o and270oprogram to rotate a



(e)

(0

Q.3
(a)

(c)

(d)

(e) Write a

(0 Show

Q.4
(a)

(b)

Matrix

)

basis of R3

andv: (0,3,4,2)

y + l2z)

(-6, 4,2) and v = (3, 1, 5)
projection u on v.

) (Each of SMarks)
combination of vr=(-2 , l, 3), vz=(3, l, -l) and

(1sM)

(1sM)

(
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(d) Check whether the vectors are linearly dependent
vr:(I, -2, l), vz:(2, 1, 1) and v3:(7, 4, l).
Express IG + 2i)/(2 + i)(1 - 3i)l in the form x + iy
Check whether the set of all pairs of real
operation (1, y) + (1, y') : (1, y + y,) and k (1,

Attempt the following (Any THRLE)
Let

^:[i I
Compute the following if they
a)A+B b)3,{ c)B+

(1,2, 0, 4, l), (0, 1, 3,

Check whether the
2 -x]- 4x2,3 +

-2,5)



(b)

(c)

(d)

Write a pl,thon program to convert a2 x 2 matrix to row
Verif,, Cauchy's Schwartz's inequality u : (1, 2, -l) and
Find eigen Values and eigen vectors of

( 8 -8 -2)A+ 4 4 -2.1

[: 4 |
Construct an orthonormalbasis of R2 by Gram
S: {(3, l), (4,2)}


